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1. Let fo(x) = Znnjcsoi;l;f?x, show that f,, converges uniformly on R.

12820 awl | ) <)

2 NthK n-
fo& Saroshs 7 z_n_{!-l'

hel
M \Cupe gy

s)_ﬂ ‘\&‘] 5‘%}‘

S\ —
rowl \ ) Al
¥ ST/ %—\"7"
@{—@-7%




2. Let f(z) = Y 7| a,z™. Show that the series is continuous on [—1,1] if 3°  |an| < oco. Prove that - | n~2z™ is continuous on [—1, 1].

(In only know that - @, and ) _(—1)"a, converge, then the result still holds, but is harder to prove. See Ross Thm 26.6)

W@W&h fo=2od, od Zupicos
NTS -f(\D 75 vty on E",L]

r e

With wekstess desb , > 3, 0] <2,
Ther Lot Ma= [Ga]

for % &LC-01) ;{QS"fI

- Jot”] <(Go) = Mo
2 Mg (a7 < Om
2 f@ Vo Wc‘{wlj cynitgert: - o 1,4
57{;6(» V> opiteus o -1, 1)
Do s, ez
consid b J.,;E

Wl l‘ﬁ{'eqml fest /oy. 15 OON@ym\‘

W0 for (bl (—%\ » U Conagont
2Dbn 35 pbsdutly cowertget . O D
with the Yegult oot lf/op A5 Continuotrs @7~



SShwthtf() >, " represent a continuous functio (11)btth vergence is not u fm(Htt hwthtf() n(-1,1)
is only need to show that for y0< <1wh [ , a. Use Weierstrass M-test. )
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